
E 3266-0419

1

1

23

CR 3/60

CR 3/70
10

10

11

12

MA =  310Nm

MA =  310Nm

4

13



E 3266-0419 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 2 11000338          

2 4 25038046  DIN933-M16x50-10.9        

3 4 20029029  Nord-Lock 16,0        

4 8 25038006  DIN933-M8x16        

5             

6             

7             

8             

9             

10 2 11000615          

11 4 25038046  DIN933-M16x50-10.9        

12 4 20029029  Nord-Lock 16,0        

13 8 25038073  DIN933-M8x12        

              

              

             

             

             

             

               

               

               

               

               

               

               

               

               

               

                

04.19        



E 3290-1207

1

CR 3

CR 3/60

CR 3/70

2 3

4

5

6

10

11
12

13

14

15



E 3290-1207 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11000610          

2 2 11000612          

3 4 25040019  DIN931-M12x55        

4 4 25048004  DIN125-A13        

5 4 20029023  SKB 12        

6 4 25031005  DIN934-M12        

7             

8             

9             

10 1 11000611  CR 3/60        

10 1 11000631  CR 3/70        

11 2 11000612          

12 4 25040019  DIN931-M12x55        

13 4 25048004  DIN125-A13        

14 4 20029023  SKB 12        

15 4 25031005  DIN934-M12        

             

             

             

               

               

               

               

               

               

               

               

               

               

                

12.07        



E 3031-0808

1

2

3

4
5

6
7

7
8

9

10

12

13

11



E 3031-0808 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 10022502  CR3 , CR4         

1 1 10022504  CR3/60 , CR4/65         

1 1 11000639  CR3/70         

2 1 10016239           

3 1 20025508           

4 1 25031004  DIN934-M10         

5 1 25038060  DIN933-M10x50         

6 2 20025007           

7 4 25048006  DIN125-A21         

8 2 25037002           

9 1 10022503           

10 1 25040018  DIN931-M12x50         

11 1 25048004  DIN125-A13 - CR4         

11 1 25049011  DIN7349-13x30x6 - CR3         

12 1 20029023  SKB 12         

13 1 25031005  DIN934-M12         

               

                

                

                

                

                

                

                

                

                

                

                

                

                

                

08.08        



E 3748-1220

1

2

3

9

10

11

12

13

14

14

14

15

16

4

5

6

7

8

17

18

1819
20



E 3748-1220 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 2 11002237          

2 4 25038007  DIN933-M8x20        

3 4 20029003  VSK 8        

4 2 11002638          

5 2 21001433          

6 2 21000874          

7 2 25037004  DIN94-4x40        

8 2 25048006          

9 1 11002639          

10 2 25044006  DIN912-M8x25        

11 2 20029024  Nord-Lock 8,0        

12 1 11002240          

13 1 25038022  DIN933-M12x40        

14 4 21000903          

15 1 25031015  DIN985-M12        

16 1 11001813         

17 1 25038011  DIN933-M8x40       

18 2 20029031  SKM 8       

19 1 25031013  DIN985-M8       

20 2 25031003  DIN934-M8         

               

               

               

               

               

               

               

               

               

                

12.20        



E 3410-1113

1

2



E 3410-1113 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 21000603          

2 1 21000877          

              

              

              

              

              

              

              

              

              

              

              

              

              

             

             

             

             

               

               

               

               

               

               

               

               

               

               

                

11.13        


